

ON THE ZEROS OF QUOTIENTS OF BESSEL FUNCTIONS

A. FRIEDMAN* B. HU** J. J. L. VELAZQUEZ***

Abstract

The paper studies the zeros of $2mI_m/I_{m-1} - (m+1)I_1/I_0$, where I_m are the Bessel functions.

Keywords Zeros, Quotient, Bessel function

1991 MR Subject Classification 33C10

Chinese Library Classification O174.61

Document Code A

Article ID 0252-9599(2000)03-0285-12

§1. The Main Results

In this paper we establish the following result concerning the Bessel functions $I_m(x)$:

Theorem 1.1. (i) *For any $m \geq 2$ there exists a unique positive solution $x = x_m$ of the equation*

$$\frac{I_m(x)}{I_{m-1}(x)} - \frac{m+1}{2m}G(x) = 0, \quad (1.1)$$

where

$$G(x) = \frac{I_1(x)}{I_0(x)}. \quad (1.2)$$

(ii) *If $2 \leq l < m$, then*

$$x_l < x_m. \quad (1.3)$$

This theorem is used in the study of free boundary problems^[1].

The following result will be used in the proof of (1.3):

Theorem 1.2. *The function $G(x)$ is concave for $0 < x < \infty$; more precisely, $G''(x) < 0$ for $0 < x < \infty$.*

Manuscript received March 23, 2000.

*Department of Mathematics, University of Minnesota, Minneapolis, MN 55455, USA.

E-mail: friedman@math.umn.edu

**Department of Mathematics, University of Notre Dame, Notre Dame, IN 46556, USA.

E-mail: bei.hu.1@nd.edu

***Departamento de Matematica Aplicada, Facultad de Matematicas, Universidad Complutense, 28040 Madrid, Spain.

§2. Proof of Theorem 1.1 (i)

We recall (see, for instance, [3]) that $I_m(x)$ satisfies the differential equation

$$I_m''(x) + \frac{1}{x} I_m'(x) - \left(1 + \frac{m^2}{x^2}\right) I_m(x) = 0 \quad (2.1)$$

and is given by

$$I_m(x) = \sum_{k=0}^{\infty} \frac{(x/2)^{m+2k}}{k! \Gamma(m+k+1)}. \quad (2.2)$$

Furthermore

$$I_m'(x) + \frac{m}{x} I_m(x) = I_{m-1}(x), \quad m \geq 1, \quad (2.3)$$

$$I_m'(x) - \frac{m}{x} I_m(x) = I_{m+1}(x), \quad (2.4)$$

$$I_m(x) = \left(\frac{2}{\pi x}\right)^{1/2} e^x \left[1 + O\left(\frac{1}{x}\right)\right] \quad \text{if } x \rightarrow \infty, \quad (2.5)$$

$$I_m(x) I_n(x) = \sum_{k=0}^{\infty} \frac{\Gamma(m+n+2k+1)(x/2)^{m+n+2k}}{k! \Gamma(m+k+1) \Gamma(n+k+1) \Gamma(m+n+k+1)}. \quad (2.6)$$

Consider the function

$$f_m(x) = \frac{I_0(x) I_m(x)}{I_1(x) I_{m-1}(x)}, \quad m \geq 2. \quad (2.7)$$

Theorem 2.1. *If $m \geq 2$, then*

$$\frac{d}{dx} f_m(x) > 0 \quad \text{for all } x > 0. \quad (2.8)$$

To prove the theorem we first study the functions

$$S_m(x) = \log I_m(x). \quad (2.9)$$

Lemma 2.1. *For any $m \geq 1$,*

$$S_m'(x) - S_{m-1}'(x) > 0 \quad \text{for all } x > 0, \quad (2.10)$$

and, consequently,

$$S_m'(x) - S_0'(x) > 0 \quad \text{for all } x > 0. \quad (2.11)$$

Proof. From (2.1) we have

$$S_m'' + (S_m')^2 + \frac{1}{x} S_m' = 1 + \frac{m^2}{x^2}. \quad (2.12)$$

Similarly

$$S_{m-1}'' + (S_{m-1}')^2 + \frac{1}{x} S_{m-1}' = 1 + \frac{(m-1)^2}{x^2},$$

so that

$$(S_m - S_{m-1})'' + (S_m' + S_{m-1}')(S_m' - S_{m-1}') + \frac{1}{x}(S_m' - S_{m-1}') = \frac{m^2 - (m-1)^2}{x^2} > 0. \quad (2.13)$$

As $x \rightarrow 0$

$$S_m = m \log x + O(1), \quad S_{m-1} = (m-1) \log x + O(1),$$

so that

$$S_m - S_{m-1} = \log x + O(1), \quad S_m' - S_{m-1}' = \frac{1}{x} + O(1).$$

Thus (2.10) holds if x is small.

If (2.10) does not hold for all $x > 0$, then there is a smallest value $x = x_0 > 0$ for which (2.10) is not satisfied. Clearly

$$\begin{aligned} S'_m(x_0) - S'_{m-1}(x_0) &= 0, \\ S''_m(x_0) - S''_{m-1}(x_0) &\leq 0. \end{aligned} \quad (2.14)$$

On the other hand, from (2.13) and (2.14) we infer that

$$S''_m(x_0) - S''_{m-1}(x_0) = \frac{m^2 - (m-1)^2}{x_0^2} > 0,$$

which is a contradiction.

Lemma 2.2. For any $m \geq 1$,

$$S'_m(x) - S'_0(x) < \frac{m}{x} \quad \text{for all } x > 0. \quad (2.15)$$

Proof. In view of (2.9), (2.15) is equivalent to $\frac{I'_m(x)}{I_m(x)} - \frac{I'_0(x)}{I_0(x)} < \frac{m}{x}$ or, by (2.4), to

$$\frac{m}{x} + \frac{I_{m+1}(x)}{I_m(x)} - \frac{I'_0(x)}{I_0(x)} < \frac{m}{x}$$

which is the same as

$$\frac{I_{m+1}}{I_m} < \frac{I_1}{I_0} \quad \text{for } x > 0. \quad (2.16)$$

Using the product formula (2.6) it was proved in [2] that each term in the power series of $I_{m+1}(x)I_{m-1}(x)$ is smaller than each term in the power series of $(I_m(x))^2$, so that $\frac{I_{m+1}}{I_m} < \frac{I_m}{I_{m-1}}$ and (2.16) then follows by iterating this inequality.

Proof of Theorem 2.1. Introduce the function

$$\phi(x) = (S_m(x) - S_{m-1}(x)) - (S_1(x) - S_0(x)). \quad (2.17)$$

Then the assertion (2.8) is equivalent to the inequality

$$\phi'(x) > 0 \quad \text{if } x > 0. \quad (2.18)$$

Writing (2.13) for $m = 1$ and subtracting from (2.13), we obtain

$$\phi'' + \{(S'_m + S'_{m-1})(S'_m - S'_{m-1}) - (S'_1 + S'_0)(S'_1 - S'_0)\} + \frac{1}{x}\phi' = \frac{2(m-1)}{x^2} > 0 \quad \text{if } m \geq 2. \quad (2.19)$$

For x small,

$$\begin{aligned} \frac{I_m}{I_{m-1}} \frac{I_0}{I_1} &= \frac{(\frac{x}{2})^m [\frac{1}{\Gamma(m+1)} + (\frac{x}{2})^2 \frac{1}{\Gamma(m+2)}]}{(\frac{x}{2})^{m-1} [\frac{1}{\Gamma(m)} + (\frac{x}{2})^2 \frac{1}{\Gamma(m+1)}]} \frac{1 + (\frac{x}{2})^2}{\frac{x}{2} [1 + \frac{1}{2}(\frac{x}{2})^2]} [1 + O(x^2)] \\ &= \frac{1}{m} \frac{1 + \frac{z}{m+1}}{1 + \frac{z}{m}} \frac{1+z}{1 + \frac{z}{2}} (1 + O(z)) \quad (z = (x/2)^2) \\ &= \frac{1}{m} \left[1 + \left(\frac{1}{2} - \frac{1}{m(m+1)} \right) z \right] + O(z^2) \end{aligned}$$

and, since $m \geq 2$, (2.18) holds for x small.

If (2.18) does not hold for all $x > 0$, then there is a smallest $x = x_0$ such that

$$\phi'(x_0) = 0 \quad (2.20)$$

and, clearly, $\phi''(x_0) \leq 0$, so that, by (2.19),

$$\frac{2(m-1)}{x^2} \leq \{(S'_m + S'_{m-1})(S'_m - S'_{m-1}) - (S'_1 + S'_0)(S'_1 - S'_0)\} \quad \text{at } x = x_0. \quad (2.21)$$

Writing (2.20) in the form

$$S'_m - S'_{m-1} = S'_1 - S'_0 \quad \text{at } x = x_0, \quad (2.22)$$

we see that the right-hand side of (2.21) is equal to

$$\begin{aligned} & [(S'_m + S'_{m-1}) - (S'_1 + S'_0)](S'_1 - S'_0) \\ &= [(S'_{m-1} + (S'_1 - S'_0) + S'_{m-1}) - (S'_1 + S'_0)](S'_1 - S'_0) \\ &= (2S'_{m-1} - 2S'_0)(S'_1 - S'_0) \end{aligned}$$

which, by Lemmas 2.2 and 2.3, is smaller than $2^{\frac{m-1}{x}} \frac{1}{x}$; this is a contradiction to (2.21).

From (2.2) and (2.5) we see that

$$\begin{aligned} f_m(x) &\rightarrow 1 \quad \text{if } x \rightarrow \infty, \\ f_m(x) &\rightarrow \frac{1}{m} \quad \text{if } x \rightarrow 0, \end{aligned}$$

so that, if $m \geq 2$, $f_m(x) - \frac{m+1}{2m}$ is negative for small x and positive for large x . Hence we have

Corollary 2.1. *For any $m \geq 2$ there exists a unique positive solution $x = x_m$ of the equation*

$$\frac{I_0(x_m)}{I_1(x_m)} \frac{I_m(x_m)}{I_{m-1}(x_m)} = \frac{m+1}{2m}. \quad (2.23)$$

This is precisely the assertion (i) of Theorem 1.1.

§3. Proof of Theorem 1.1 (ii)

By (2.4)

$$\frac{I'_{m-1}(x)}{I_{m-1}(x)} - \frac{m-1}{x} = \frac{I_m(x)}{I_{m-1}(x)}, \quad (3.1)$$

so that the equation

$$\frac{I_0(x)}{I_1(x)} \frac{I_m(x)}{I_{m-1}(x)} = \frac{m+1}{2m} \quad (3.2)$$

can be written also in the form

$$\frac{I'_{m-1}(x)}{I_{m-1}(x)} = \frac{m-1}{x} + \frac{m+1}{2m} \frac{I_1(x)}{I_0(x)}. \quad (3.3)$$

By Corollary 2.1 this equation has unique positive solution x_m and, setting

$$z_m(x) = \frac{I'_{m-1}(x)}{I_{m-1}(x)}, \quad (3.4)$$

we have

$$\begin{aligned} z_m(x) &< \frac{m-1}{x} + \frac{m+1}{2m} G(x) \quad \text{if } x < x_m, \\ z_m(x) &> \frac{m-1}{x} + \frac{m+1}{2m} G(x) \quad \text{if } x > x_m \end{aligned} \quad (3.5)$$

for any $m \geq 1$.

We shall prove

Theorem 3.1. *For any $m \geq 1$,*

$$z_{m+1}(x) < \frac{m}{x} + \frac{m+2}{2(m+1)} G(x) \quad \text{at } x = x_m, \quad (3.6)$$

so that $x_{m+1} > x_m$.

Combining this with (3.5) we conclude that $x_{m+1} > x_m$, and this completes the proof of Theorem 1.1 (ii).

In order to prove Theorem 3.1 we shall need several facts about the function G .

Lemma 3.1. *The function $G(x)$ satisfies:*

$$0 < G(x) < 1 \quad \text{if } x > 0. \quad (3.7)$$

Proof. By (2.10) (with $m = 1$),

$$G'(x) > 0 \quad \text{for all } x > 0. \quad (3.8)$$

It is also easily seen that

$$G(x) = \frac{x}{2} + O(x^2) \quad \text{as } x \rightarrow 0. \quad (3.9)$$

Since further, by (2.5),

$$G(x) \rightarrow 1 \quad \text{if } x \rightarrow \infty, \quad (3.10)$$

the lemma follows.

Using the relation $I_1' = -I_0/x + I_0$ we find that G satisfies the differential equation

$$G' + G^2 + \frac{1}{x}G = 1. \quad (3.11)$$

This equation will be needed later on.

We shall also need Theorem 1.2, i.e.,

$$G''(x) < 0 \quad \text{for all } x > 0. \quad (3.12)$$

The proof, which is somewhat lengthy, will be given in Section 5.

Proof of Theorem 3.1. From (3.1) and (3.4) we have

$$z_m(x) - \frac{m-1}{m} = \frac{I_m(x)}{I_{m-1}(x)}. \quad (3.13)$$

It will actually be more convenient to work with the function

$$V_m(x) = z_m(x) - \frac{m-1}{x} \quad \left(= \frac{I_m(x)}{I_{m-1}(x)} \right). \quad (3.14)$$

By (2.3), (2.4) and (2.2), $V_m(x)$ satisfies

$$V_m'(x) + V_m^2(x) + \frac{2m-1}{x}V_m(x) = 1, \quad (3.15)$$

$$V_m(x) = \frac{x}{2m} + O(x^2), \quad x \rightarrow 0. \quad (3.16)$$

Similarly

$$V_{m+1}'(x) + V_{m+1}^2(x) + \frac{2m+1}{x}V_{m+1}(x) = 1, \quad (3.17)$$

$$V_{m+1}(x) = \frac{x}{2(m+1)} + O(x^2), \quad x \rightarrow 0. \quad (3.18)$$

Theorem 3.1 can be restated as follows: If

$$V_m(x_m) = \frac{1}{2} \frac{m+1}{m} G(x_m), \quad (3.19)$$

then

$$V_{m+1}(x_m) < \frac{1}{2} \frac{m+2}{m+1} G(x_m), \quad (3.20)$$

or

$$W(x_m) < \frac{1}{2} \frac{m+1}{m} G(x_m), \quad (3.21)$$

where

$$W(x) = \frac{(m+1)^2}{m(m+2)} V_{m+1}(x). \quad (3.22)$$

The reason for introducing the function W is to make the right-hand side of (3.21) the same as for (3.19). We intend to compare $V_m(x)$ with $W(x)$ for $0 < x \leq x_m$.

By (3.17), W satisfies the differential equation

$$W' + \frac{m(m+2)}{(m+1)^2} W^2 + \frac{2m+1}{x} W = \frac{(m+1)^2}{m(m+2)}, \quad x > 0, \quad (3.23)$$

and, by (3.18),

$$W(x) = \frac{m+1}{2m(m+2)} x + O(x^2), \quad x \rightarrow 0.$$

In view of (3.16),

$$W(x) < V_m(x) \text{ for } x \text{ near } 0. \quad (3.24)$$

If we can show that

$$\frac{(m+1)^2}{m(m+2)} - \frac{m(m+2)}{(m+1)^2} W^2 - \frac{2m+1}{x} W < 1 - W^2 - \frac{2m-1}{x} W \text{ for } 0 < x \leq x_m, \quad (3.25)$$

then, by comparison, we deduce that $W(x) < V_m(x)$ for all $0 < x \leq x_m$, and (3.21) follows. Indeed, otherwise there is a smallest \bar{x} such that $0 < \bar{x} \leq x_m$ and $(W - V_m) = 0$, $(W - V_m)' \geq 0$ at \bar{x} ; however, in view of (3.25) at $x = \bar{x}$ and (3.15), (3.23), we also have $W'(\bar{x}) < V'_m(\bar{x})$, which is a contradiction.

We have thus reduced the proof of Theorem 3.1 to establishing the inequality (3.25), or

$$\frac{1}{m(m+2)} + \frac{1}{(m+1)^2} W^2 < \frac{2}{x} W \text{ for } 0 < x \leq x_m. \quad (3.26)$$

The above analysis shows that as long as (3.26) holds for $0 < x < \tilde{x}$, $W(x) < V_m(x)$ for $0 < x < \tilde{x}$. Hence, in proving (3.26) it suffices to consider functions $W(x)$ satisfying

$$W(x) < V_m(x). \quad (3.27)$$

Since

$$V_m(x) < \frac{1}{2} \frac{m+1}{m} G(x) \text{ if } x < x_m,$$

we may replace (3.27) by the simpler inequality

$$W(x) < \frac{1}{2} \frac{m+1}{m} G(x), \quad 0 < x < x_m. \quad (3.28)$$

Lemma 3.2. *There holds*

$$\frac{m+1}{m(m+2)} G(x) \leq W(x) \text{ for all } x > 0. \quad (3.29)$$

Proof. We shall construct a subsolution $\widetilde{W}(x) = \lambda G(x)$, $\lambda > 0$, to the function W . By (3.23), this means that λ has to be such that

$$\lambda G' + \lambda^2 \frac{m(m+2)}{(m+1)^2} G^2 + \frac{(2m+1)\lambda}{x} G < \frac{(m+1)^2}{m(m+2)},$$

or, in view of (3.11),

$$G^2 \left[\lambda^2 \frac{m(m+2)}{(m+1)^2} - \lambda \right] + \frac{2m\lambda}{x} G < \frac{(m+1)^2}{m(m+2)} - \lambda.$$

But for $\lambda \leq (m+1)/[m(m+2)]$, this inequality is a consequence of

$$\frac{2m\lambda}{x} G < \frac{(m+1)^2}{m(m+2)} - \lambda,$$

or

$$\frac{2}{x} G < 1, \text{ i.e., } I_1(x) < \frac{x}{2} I_0(x),$$

which is indeed true for all $x > 0$ (by comparing the two series term-wise).

As $x \rightarrow 0$

$$\lambda G \sim \frac{\lambda x}{2}, \quad W \sim \frac{m+1}{2m(m+2)} x,$$

so that the inequality $\lambda G(x) < W(x)$ holds for x near zero if $\lambda < \frac{m+1}{m(m+2)}$. But then, by comparison, $\lambda G(x) < W(x)$ for all $x > 0$. This yields the assertion (3.29).

We summarize: In order to complete the proof of Theorem 3.1 or Theorem 1.1 (ii) it suffices to prove that (3.26) holds for $W(x)$ satisfying (3.28) and (3.29). We shall state this in a different way:

If we introduce the function

$$\Phi(z, x) = \frac{1}{m(m+2)} + \frac{z^2}{(m+1)^2} G^2(x) - \frac{2}{x} z G(x), \quad (3.30)$$

then, in view of (3.28) and (3.29), what we have to prove is the following

Lemma 3.3. *There holds*

$$\Phi(z, x) < 0 \quad \text{for } 0 < x < x_m, \quad z \in \left(\frac{m+1}{m(m+2)}, \frac{m+1}{2m} \right). \quad (3.31)$$

Proof. Set $z_1 = \frac{m+1}{m(m+2)}$, $z_2 = \frac{m+1}{2m}$. Since the function $z \rightarrow \Phi(z, x)$ is a parabola, it is sufficient to prove (3.31) just at the extreme points z_1 and z_2 . But

$$\Phi(z_1, x) < 0 \quad \text{reduces to} \quad 1 + \frac{G^2}{m(m+2)} < \frac{2(m+1)}{x} G,$$

$$\Phi(z_2, x) < 0 \quad \text{reduces to} \quad \frac{1}{m+2} + \frac{G^2}{4m} < \frac{m+1}{x} G,$$

and since (by Lemma 3.2) $0 < G < 1$, it suffices to prove that

$$1 + \frac{1}{m(m+2)} < \frac{2(m+1)}{x} G, \quad \frac{1}{m+2} + \frac{1}{4m} < \frac{m+1}{x} G.$$

Noting that the second inequality is a consequence of the first one, it remains to prove that the function

$$F(x) = 2(m+1)G(x) - \theta_m x \quad (3.32)$$

is positive for $0 < x \leq x_m$, where

$$\theta_m = \frac{(m+1)^2}{m(m+2)}. \quad (3.33)$$

Observe that for x near 0,

$$F(x) \sim (m+1)x - \frac{(m+1)^2}{m(m+2)} x = ax, \quad a > 0,$$

so that $F(0) = 0$, $F'(0) > 0$. By (3.12), $F(x)$ is a concave function. Hence, in order to prove that $F(x) > 0$ for all $0 < x \leq x_m$ it suffices to show that $F(x_m) > 0$, i.e., that

$$2(m+1)G(x_m) - \theta_m x_m > 0. \quad (3.34)$$

Since the proof of this inequality is quite lengthy, it is given in the next section.

§4. Proof of (3.34)

Introduce the positive solution \bar{V}_m of

$$\bar{V}_m^2(\xi) + \frac{2m-1}{\xi} \bar{V}_m(\xi) = 1, \quad (4.1)$$

i.e.,

$$\bar{V}_m(\xi) = -\frac{2m-1}{2\xi} + \left[\left(\frac{2m-1}{2\xi} \right)^2 + 1 \right]^{1/2}. \quad (4.2)$$

Note that, by (4.1),

$$\bar{V}_m(\xi) < \frac{\xi}{2m-1}. \quad (4.3)$$

Differentiating (4.1) we obtain

$$2\bar{V}_m \bar{V}_m' + \frac{2m-1}{\xi} \bar{V}_m' = \frac{2m-1}{\xi^2} \bar{V}_m \quad (4.4)$$

and hence, upon using (4.3),

$$\bar{V}_m' = \frac{\frac{2m-1}{\xi^2} \bar{V}_m}{2\bar{V}_m + \frac{2m-1}{\xi}} < \frac{\frac{1}{\xi}}{\frac{2m-1}{\xi}} = \frac{1}{2m-1}. \quad (4.5)$$

Lemma 4.1. *There holds*

$$V_m(x) \geq \left(\frac{2m-1}{2m} \right)^{1/2} \bar{V}_m \left(\left(\frac{2m-1}{2m} \right)^{1/2} x \right) \quad (4.6)$$

for all $x > 0$.

Proof. Consider the function

$$z(x) = \lambda \bar{V}_m(\lambda x), \quad \lambda > 0 \quad (4.7)$$

and set $\xi = \lambda x$. Then

$$\begin{aligned} z' + z^2 + \frac{2m-1}{x} z - 1 &= \lambda^2 \left[\bar{V}_m'(\xi) + \bar{V}_m^2(\xi) + \frac{2m-1}{\xi} \bar{V}_m(\xi) - 1 \right] + \lambda^2 - 1 \\ &= \lambda^2 \bar{V}_m'(\xi) + \lambda^2 - 1 \quad (\text{by (4.1)}) \\ &< \frac{\lambda^2}{2m-1} + \lambda^2 - 1 \quad (\text{by (4.5)}) \\ &= \lambda^2 \frac{2m}{2m-1} - 1 < 0 \end{aligned}$$

if $\lambda^2 < \frac{2m-1}{2m}$, so that z is a subsolution of (3.15). Since also, for x near 0,

$$\begin{aligned} z(x) &\sim \lambda \frac{2m-1}{2\xi} \frac{1}{2} \left(\frac{2\xi}{2m-1} \right)^2 \quad (\text{by (4.2)}) \\ &= \lambda^2 \frac{x}{2m-1} < \frac{x}{2m} \sim V_m(x), \end{aligned}$$

we conclude, by comparison, that $z(x) < V_m(x)$ for all $x > 0$, and (4.6) follows.

Lemma 4.2. *The function $\bar{V}_m(\xi)$ satisfies $\bar{V}'_m(\xi) > 0$, $\bar{V}''_m(\xi) < 0$.*

Proof. The first inequality follows from (4.4). To prove the second inequality we set $V = \bar{V}_m$ and differentiate (4.4). We get

$$2VV'' + 2(V')^2 + \frac{2m-1}{\xi}V'' - \frac{2(2m-1)}{\xi^2}V' + \frac{2(m-1)}{\xi^3}V = 0.$$

Since $V > 0$, we see that

$$\begin{aligned} \operatorname{sgn} V'' &= \operatorname{sgn} \left\{ -2(V')^2 + \frac{2(2m-1)}{\xi^2}V' - \frac{2(2m-1)}{\xi^3}V \right\} \\ &\leq \operatorname{sgn} \left\{ \frac{2(2m-1)}{\xi^2} \left(V' - \frac{V}{\xi} \right) \right\} = \operatorname{sgn} \left\{ \frac{2}{\xi}(-2VV') \right\} \quad \text{by (4.4),} \end{aligned}$$

which is negative since $V' > 0$.

The lower bound for V_m (derived in Lemma 4.1) will henceforth be used to deduce that x_m in (3.5) is sufficiently large, which is an important step in the proof of (3.34).

Set

$$\begin{aligned} Q_m(x) &= \frac{2m}{m+1} \left(\frac{2m-1}{2m} \right)^{1/2} \bar{V}_m \left(\left(\frac{2m-1}{2m} \right)^{1/2} x \right), \\ P_m(x) &= \frac{2m}{m+1} V_m(x) \quad (V_m \text{ was defined in (3.14)}), \\ L_m(x) &= \frac{1}{2(m+1)} \theta_m x = \frac{m+1}{2m(m+2)} x. \end{aligned}$$

By (3.19)

$$P_m(x_m) = G(x_m), \quad (4.8)$$

and (3.34) is equivalent to

$$L_m(x_m) < G(x_m). \quad (4.9)$$

For x near 0, $G(x) \sim \frac{x}{2}$, so that

$$G(0) = L_m(0) = 0, \quad G'(0) > L'_m(0),$$

whereas, for x large, $G(x) < 1 < L_m(x)$. Since G is concave, it follows that there exists a unique point \tilde{x}_m such that

$$\begin{aligned} L_m(x) &< G(x) \quad \text{if } x < \tilde{x}_m, \\ L_m(x) &> G(x) \quad \text{if } x > \tilde{x}_m. \end{aligned} \quad (4.10)$$

To prove (4.9), let \tilde{x} be the point where

$$L_m(\tilde{x}) = 1, \quad \text{i.e., } \tilde{x} = \frac{2m(m+2)}{m+1}. \quad (4.11)$$

Since $G(x) < 1$, (4.10) implies that

$$\tilde{x}_m < \tilde{x}. \quad (4.12)$$

Suppose

$$Q_m(\tilde{x}) > 1 = L_m(\tilde{x}). \quad (4.13)$$

Then from the concavity of Q_m (Lemma 4.2) and the fact that $Q_m(0) = L_m(0) = 0$, it follows that

$$Q_m(x) > L_m(x) \quad \text{if } x < \tilde{x}. \quad (4.14)$$

By monotonicity of Q_m (which follows from Lemma 4.1)

$$Q_m(x) > Q_m(\tilde{x}) > 1 \quad \text{if } x > \tilde{x},$$

whereas by (4.14), (4.10),

$$Q_m(x) > L_m(x) > G(x) \quad \text{if } \tilde{x}_m < x < \tilde{x}.$$

Thus, altogether, $Q_m(x) > G(x)$ if $\tilde{x}_m < x < \infty$ and, since $P_m(x) > Q_m(x)$ for all $x > 0$ (Lemma 4.1), we conclude that

$$P_m(x) > G(x) \quad \text{if } \tilde{x}_m < x < \infty.$$

Hence, by (4.8), $x_m < \tilde{x}_m$ and, recalling (4.10), the assertion (4.9) follows, and this completes the proof of (3.34).

It remains to prove that (4.13) holds.

Set

$$A_m = \frac{m+1}{2m} \left(\frac{2m}{2m-1} \right)^{1/2}, \quad \sigma_m = \left(\frac{2m-1}{2m} \right)^{1/2} \tilde{x}.$$

Then (4.13) reduces to

$$\bar{V}_m(\sigma_m) > A_m. \quad (4.15)$$

Since

$$\bar{V}_m^2(\sigma_m) + \frac{2m-1}{\sigma_m} \bar{V}_m(\sigma_m) = 1,$$

if

$$A_m^2 + \frac{2m-1}{\sigma_m} A_m < 1, \quad (4.16)$$

then (4.15) follows by monotonicity. Substituting \tilde{x} from (4.11) into σ_m , the inequality (4.16) reduces to

$$\frac{(m+1)^2(3m+1)}{2m(2m-1)(m+2)} < 1,$$

which is valid if $m \geq 4$.

We have thus completed the proof of (3.34) (and therefore also of Theorem 1.1 (ii)) for $m \geq 4$. The proof for $m \leq 3$ can be obtained by explicit calculations. Indeed, the solution of

$$\frac{I_2(x)}{I_1(x)} = \frac{3}{4} \frac{I_1(x)}{I_0(x)}$$

is $x = a = 3.773474$ and

$$\frac{I_3(a)}{I_2(a)} - \frac{2}{3} \frac{I_1(a)}{I_0(a)} = -0.0686071 < 0,$$

whereas the solution of

$$\frac{I_3(x)}{I_2(x)} = \frac{2}{3} \frac{I_1(x)}{I_0(x)}$$

is $x = b = 5.119174$ and

$$\frac{I_4(b)}{I_3(b)} - \frac{5}{8} \frac{I_1(b)}{I_0(b)} = -0.058144 < 0.$$

§5. Proof of Theorem 1.2

The function $\bar{G}(x) = \frac{1+\varepsilon}{2}x$ ($\varepsilon > 0$) is a supersolution of G , i.e., $\bar{G}' > 1 - \bar{G}^2 - \frac{\bar{G}}{x}$. Since also $G(x) \sim \frac{x}{2} < \bar{G}(x)$ for x near 0, it follows that

$$G(x) \leq \frac{x}{2} \quad \text{for all } x > 0. \quad (5.1)$$

Differentiating (3.11) we get

$$\begin{aligned} G'' &= -2GG' - \frac{G'}{x} + \frac{1}{x^2}G \\ &= -2G\left(1 - G^2 - \frac{G}{x}\right) - \frac{1}{x}\left(1 - G^2 - \frac{G}{x}\right) + \frac{G}{x^2} \\ &= -2G + 2G^3 + \frac{3G^2}{x} + \frac{2G}{x^2} - \frac{1}{x} \equiv K(G, x). \end{aligned} \quad (5.2)$$

If $x \leq 1$, then by (5.1)

$$G'' < -2G + xG^2 + \frac{3}{2}G + \frac{1}{x} - \frac{1}{x} = G\left(-\frac{1}{2} + xG\right) < 0$$

and thus G is concave.

We next want to show that

$$K(G(x), x) < 0 \quad \text{if } 1 < x < 2. \quad (5.3)$$

To do that note that since $G(x) > G(1) = 0.4464$,

$$\frac{3G^2(x)}{\xi} + \frac{2G(x)}{\xi^2} - \frac{1}{\xi}$$

is monotone decreasing in ξ , $0 < \xi < 1$, and

$$\frac{\partial K}{\partial G} = -2 + 6G^2 + \frac{6G}{x} + \frac{2}{x^2} > 0 \quad \text{if } G = G(\xi), \xi > 1, 1 < x < 2.$$

Hence, if

$$H(x, y) \equiv -2G(x) + 2G^3(x) + \frac{3G^2(x)}{y} + \frac{2G(x)}{y^2} - \frac{1}{y} < 0 \quad (5.4)$$

for a pair (x, y) with $1 \leq y < x \leq 2$, then $K(G(\xi), \xi) < 0$ for $y \leq \xi \leq x$. We shall use this remark with points

$$a_1 = 1.0, a_2 = 1.1, a_3 = 1.2, a_4 = 1.3, a_5 = 1.5, a_6 = 1.7, a_7 = 1.9, a_8 = 2.0.$$

By direct computation we find that $H(a_{j+1}, a_j) < 0$ for all j . Hence (5.3) holds and, consequently, $G(x)$ is concave for $1 \leq x \leq 2$.

It remains to prove the concavity of $G(x)$ for $x > 2$. To do that we shall first derive rather sharp upper and lower bounds on G :

Lemma 5.1. *The function G satisfies*

$$G(x) < 1 - \frac{1}{2x} - \frac{1}{8x^2} - \frac{1}{8x^3} \quad \text{if } x \geq 2. \quad (5.5)$$

Proof. Writing

$$G = 1 - \frac{1}{2x} + \varphi,$$

(3.11) becomes

$$\varphi' = -2\varphi - \varphi^2 - \frac{1}{4x^2}.$$

By direct calculation one shows that the function

$$\psi(x) = -\frac{1}{8x^2} - \frac{1}{8x^3}$$

satisfies

$$\psi' > -2\psi - \psi^2 - \frac{1}{4x^2},$$

and thus

$$\bar{G} \equiv 1 - \frac{1}{2x} - \frac{1}{8x^2} - \frac{1}{8x^3}$$

is a supersolution to (3.11). Since

$$\bar{G}(2) = 1 - \frac{1}{4} - \frac{1}{32} - \frac{1}{64} \approx 0.703 > 0.697 \approx G(2),$$

the assertion (5.5) follows.

We have

$$6G^2(x) \geq 6G^2(2) \approx 2.91 > 2 \quad \text{if } x \geq 2$$

and, therefore,

$$\frac{\partial K}{\partial G} = -2 + 6G^2 + \frac{6G}{x} + \frac{2}{x^2} > 0 \quad \text{if } x \geq 2.$$

Consequently (recall (5.2)) in order to prove that $G'''(x) < 0$, or that $K(G, x) < 0$, it suffices to prove that $K(\bar{G}, x) < 0$ where $\bar{G}(x)$ is the supersolution given by the right-hand side of (5.5). By direct computation,

$$K(\bar{G}, x) = \frac{\bar{G}}{x} \left\{ 1 + \frac{1}{2x} - \frac{5}{8x^2} - \frac{3}{32x^3} + \frac{1}{16x^4} + \frac{1}{32x^5} \right\} - \frac{1}{x},$$

which can be expanded to

$$K(\bar{G}, x) = \frac{1}{x^3} \left(-1 + \frac{1}{32} \frac{1}{x} + \frac{1}{8} \frac{1}{x^2} + \frac{23}{256} \frac{1}{x^3} - \frac{3}{256} \frac{1}{x^4} - \frac{3}{256} \frac{1}{x^5} - \frac{1}{256} \frac{1}{x^6} \right).$$

For $x \geq 1$, the sum of the terms with positive sign is less than $1/32 + 1/8 + 23/256$, which is less than 1. Therefore, $K(\bar{G}, x) < 0$ if $x \geq 1$. This completes the proof of the concavity of G .

Acknowledgment. The first author is partially supported by National Science Foundation Grant DMS #99070522. The second and third authors are grateful for a partial support from the Institute for Mathematics and its Application during their visit there. The third author is partially supported by DGICYT Grant PB96-0614.

REFERENCES

- [1] Friedman, A., Hu, B. & Velazquez, J. J. L., A Stefan problem for a protocell model with symmetry-breaking bifurcations of analytic solutions (to appear).
- [2] Friedman, A. & Reitich, F., Symmetry-breaking bifurcation of analytic solutions to free boundary problems: An application to a model of tumor growth (to appear).
- [3] Watson, G. N., A treatise on the theory of functions [M], 2nd ed. Cambridge University Press, 1944.